
 

 

50 

����� 3 
 

��	�
����
�� 
 

��������	��
��

��������������������� (Quasi-Experimental Design) �+,��-��.�/����
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1. ��@4��� 
 ��@4����
�3413���������	��
��

���������
���
��F����-��.�3�4�
�5�:�5-��.��B�
� 6               
�B���-��.� 2552 A��2����
��86�
��8��5�����50���:� 8�����8F��������A6+,
��
����-��.��@��
�A6 1 �F���� 220 	� 
 
2. ��E756����7�� 
 ��E756����7�������
��4�
�5�:�5-��.��B�
� 6/5 2����
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��8��5�����50���:� �F��P��5,��
���G����@�� �B���-��.� 2552 �F���� 44 	� R�����E756����7���
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Random Sampling) 2�����G��IW��� 
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 /01������F���������3����������

3�P�	��
���
� 1 �B���-��.� 2552 2��341����3����
����F������������
���01	��
��

�F���� 16 	�I 	�I�@ 40 ���
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����
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 �	�,���5,��
�3413���������	��
��

��
� ��@��I�1�� 
1. �	�,���5,��
�3413������������
���01 	,� ?/������������
���012��341/�������� G�7��

D<<X�8Y�6  
2 �	�,���5,��
�3413������HI��I��5A1�50� ��@��I�1�� 
    2.1 ?II��8�I���/�8�59�:�;��������
�� 
    2.2 ?II���	��5+��+�3�67������������
���012��341/�������� G�7��D<<X�8Y�6 

     2.3 ?III�����P�	8��5A��/01����� 
 

��$�#�����
����!�%&�'�!�"����"���� �# �
����
�� 
 

 �	�,���5,��
�3418F�G��I�����������
���01 /01�����D�18�1��?/������������
���012��341/�
������� G�,�/����A��/01��
���5,���II���
������G��� 2��341��,
�G�6�5��E758��@�����
���01
�����-�86�> 8��@�
� 4 ?��?�@����	�,����
� G�7��D<<X�8Y�6 47��4�
��
� 4 (5. 4 [ 5. 6) 6�5
G���806����-��.�A�
�+,
�\�� +E�:-����4 2544 R����F�����6�5A�
�6��67�D��

 
 

1. �*�
��
��
��������+#,�� �#*�������� 

 ���8�1��?/������������
���012��341/����������4�<=8��8> ��,��� D<<X�8Y�6 8F�G��I341
3����8����E756����7�� /01�����D�1�F�����6�5A�
�6������

 
     1.1 -��.�G������?�@�F�	��5�A1�3���:
������?II�����
���012��341/�������� 
     1.2 -��.�G���806� �E�5E7�G5��A��G���806� �E���@8�	>�����4�?�@A�IA7��
��,
�G���4������-�86�> 4�
�5�:�5-��.��B�
� 6 
     1.3 -��.�����@��
����,
�G��
��@�F�5�8�1��?/������������
���012��341/�������� 
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     1.4 ���	��@G>�E���@8�	>�����
���01 ������5�
�3413������
�����8�� �+,��3G18��	�1��
��I?/������������
���012��341/�������� 

    1.5 �F�G���E���@8�	>�����
���01A��?67�@��,
�G� 
     1.6 8�1��?/������������
���012��341/��������R�����@��I�1������@��
������

 
          1.6.1 8��@�����
���01 
          1.6.2 �E���@8�	>�����
���01 
          1.6.3 5�6�\�������
���01 
          1.6.4 /������
���01�
�	��G��� 
          1.6.5 G���\�� �7�����?8��	��5�01 
          1.6.6 ������5�����
���01 
          1.6.7 �����@�5�� 
          1.6.8 8,�� �E���_> ?�@?G�7�A1�50� 
 

2. �����$�����*�$��.�	�/���
������� 

 3����8�1��?II��8�I���/�8�59�:�;��������
����
� /01�����D�18�1��?II��8�I
�����7�� �+,��3G18��	�1����I?/������������
���012��341/��������2���F��������6�5A�
�6��
���67�D��

 
     2.1 -��.�G���806� 	075,�	�0 ?�@G���8,���
����4������-�86�>4�
�5�:�5-��.��B�
� 6 
�+,��341����?�����3�����F�6�������	��@G>��,
�G�?�@+96����5�����
���01 2��3G1	��I	�E5
+96����5��
� 4 �1��	,� �1��	��5�01-	��5�F� 	��5�A1�3� ����F�D�341 ?�@���.@��@I�����
��������-�86�> 
     2.2 ���	��@G>	��58��	�1���@G�7����,
�G�3�G�7�������
���01��I8��@5�6�\�����
��
���01���-��.�A�
�+,
�\�� +�1�5��
����	��@G>/������
���01�
�	��G���?�@+96����5�����
���012��
�F�?��+96����5�����
���01�
�61��������������� 4 �1�� 	,� 	��5�01	��5�F� 	��5�A1�3� ���
�F�D�341?�@���.@��@I�������������-�86�> 
     2.3  �F��������8�1��?II��8�I���/�8�59�:�;��������
����4�<=8��8>4�
�5�:�5-��.�
�B�
� 6 ��,��� D<<X�8Y�6 ���6�������	��@G>��,
�G�?�@+96����5�����
���01?II��8�I�@���� 
?II�����4�����,��6�I 4 6����,�� ?67�@A1�5
	F�6�I�
�Y0�61���+
�� 1 A1� 5
�F����A1���
�G5� 
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50 A1� ?�@?II��8�I?II��6��� 20 A1� 2��A1�8�I��
�G5��@8��	�1����I?/����������
��
���012��341/�������� 
     2.4 �F�?II��8�I���/�8�59�:�;��������
����4�<=8��8> �
�8�1��A�
�D�3G1������>�
�
����.��������+�:>+����_�	��5Y0�61���G5�@85 P�.��
�341 ?�1���E�?�1DAA1�	F�Y�53G1Y0�61��
4�����?�@�A1�3��7�� 
     2.5 �F�?II��8�I���/�8�59�:�;��������
����4�<=8��8>D� G�	7�	��56�� (Validity) 
A��?II��8�I 2��3G1/01�4
���4�b 5 �7�� +����_�	��56��6�5��,
�G� (Content Validity) 
?�@+96����5�
�61�������� �1��806���4�
	��58��	�1���@G�7��?II��8�I��I/������
���01�
�
	��G��� (Index of item-objective congruence = IOC) 	����,��?II��8�I�
�	F���_D�16�
�?67 
0.6 A�
�D� 
     2.6 �F�?II��8�I�
�D�1���I��E�?�1DA D������341 (Try out) ��I�����
���
���E75G�����
�
/7�������
��G�7��D<<X�8Y�6 �F���� 36 	� 
     2.7 �F�/����6���3G1	@?�����A1� 2.6 5����	��@G>G�	7��@��I	��5��� (p) 	7�
	��5�4,��5���A��A1�8�I ( ttr ) ?�@	7��F�����F�?�� (r) �������A1� ��,��	F�6�I�
�5
	E_P�+2��5

	7��@��I	��5��� 6�
�?67 0.20-0.80 ?�@	7��F�����F�?�� 0.2 A�
�D� 
     2.8 �F�?II��8�I���/�8�59�:�;��������
����4�<=8��8>G�7��D<<X�8Y�6 D�341��I
��E756����7��  
  

3. ������!���'0�'� 
���
��
��
��������+#,�� �#*�������� 

�E�5E7�G5��3�����F�?II8�IY�5WI�I�

�+,�����	��5+��+�3�A����E756����7���7�+�3�
67������������
���01?II341?/������������
���012��341/�������� 5���1���+
��3� 2��3G1
��E756����7���F�?II8�IY�5G����8�H�8�
�����F������
�������������
���012��5
��@��H�3����
+����_��1��67��m�47� �1��I�I��A��/018�� �1��I�I��A��/01��
�� �1��������������5���
��
���01 �1��������?�@��@�5��/� �1����@2�4�>�
�/01��
��D�1��I2��/01�����D�1�F��������6�5A�
�6��
67�D��

 

  3.1 -��.�G������?�@�F�	��5�A1�3���:
������?II?II���	��5+��+�3�3G16����I
��@��H��
�6�
�D�1 

  3.2 �F��������8�1��?II���	��5+��+�3�67������������
���01 
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  3.3 �F�?II���	��5+��+�3��
�8�1��A�
�D�3G1������>�
�����.��������+�:>+����_�
	��5Y0�61�� �G5�@85?�1����I��E�?�1DA 

  3.4 �F�?II���	��5+��+�3�67������������
���013G1/01�4
���4�b 5 �7��+����_�	��5
6��6�5��,
�G� (Content Validity) �
�61�������� 2�����	����,��?II���	��5+��+�3��
�	F���_
D�16�
�?67 0.8 A�
�D� 

   3.5 �F�?II���	��5+��+�3�67������������
���01�
�D�1���I��E�?�1DA?�1� D�341��I��E75
6����7���F�G����F������������
���012��341/�������� 

   ?II8�IY�5	��5+��+�3�67������������
���01����?II5�6��87����@�5��	7� 5 
�@��I (Rating Scale) A�� Likert 2���F�G���
F�G���	@?�����67�D��

 

 
  �@��I	��5+��+�3�   	@?�� 
         5���
�8E�         5 
         5��         4 
         �������         3 
         �1��         2 
         �1���
�8E�         1     
 

 ��_p>3����+����_�	7��W�
��A��A1�	��5 ��������

 
 	7��W�
��           4.51- 5.00 G5��Y�� 5
	��5+��+�3�5���
�8E� 

   3.51-4.50 G5��Y�� 5
	��5+��+�3�5�� 
   2.51-3.50 G5��Y�� 5
	��5+��+�3�������� 
   1.51-2.50 G5��Y�� 5
	��5+��+�3��1�� 
   1.00-1.50 G5��Y�� 5
	��5+��+�3��1��5�� 
 
 4. �������0
&�!$���2��*+#��
�� 

 �E�5E7�G5��3�����F�?III�����P�	8��5A��/01������+,��3413����I������G6E���_>�
�
����A�
�3�A_@�
�/01�����D�1����F������
�����8��3�?67�@A�
�6�� 2����I������G6E���_>����D� 
�G6E���_>�
�8F�	�b ?�@��:
?�1�qbG�67��m�
�8�5��Y?�1�qbG��G�7���
�D�1 �+,���F��G6E���_>
�G�7���
�D����I��E�?�1DA13������������
���013�	��
�67�D� 
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�����!����32#��+�  

 /01�����D�1�F�A1�50����?II8�IY�5	��5+��+�3�67������������
���01A����E756����7��
?�@	@?�����������/�8�59�:�;��������
����4�<=8��8> G�7��D<<X�8Y�6 �7��?�@G����F����
��������
���012��341/�������� 5����	��@G>6�5����@��
�����67�D��

 
 1. ���	��@G>A1�50��+,��-��.�/�8�59�:�;��������
����4�<=8��8>A�������
��4�
�
5�:�5-��.� �B�
� 6 �7��?�@G����
�D�1��I�����������
���01��
���012��341/�������� 2��G�
	7��W�
�� 	7��W�
���1���@?�@	7��I
����I�5�6�\�� ?�@?��	��5G5��/��
�D�1���������	��@G> 
 2. ���	��@G>A1�50�?II���	��5+��+�3�67������������
���01 2����:
���G�	7��W�
�� 	7�
�I
����I�5�6�\��A��	@?�����?II���	��5+��+�3�67������������
���015�?��/�	7��W�
��
A��	@?��	��5+��+�3�67������������
���01 ����

 
 
 

 	7��W�
�� 1.00 [ 1.49 G5��Y�� 5
	��5+��+�3�67������������
���013��@��I�1���
�8E� 
 	7��W�
�� 1.50 [ 2.49 G5��Y�� 5
	��5+��+�3�67������������
���013��@��I�1�� 
 	7��W�
�� 2.50 [ 3.49 G5��Y�� 5
	��5+��+�3�67������������
���013��@��I������� 
 	7��W�
�� 3.50 [ 4.49 G5��Y�� 5
	��5+��+�3�67������������
���013��@��I5�� 
 	7��W�
�� 4.50 [ 5.00 G5��Y�� 5
	��5+��+�3�67������������
���013��@��I5���
�8E� 
 

  3. ���	��@G>G�	��58�5+��:>�@G�7��?II���	��5+��+�3���I/�8�59�:�;��������4�
<=8��8>5�?��/�	7��W�
��	@?������

 
 

  	7��@G�7�� 0.00-0.19 G5��Y��	7�	��58�5+��:>6�F�G�,�D575
	��58�5+��:> 
  	7��@G�7�� 0.20-0.39 G5��Y��	7�	��58�5+��:>���I��	7��A1��6�F� 
  	7��@G�7�� 0.40-0.59 G5��Y��	7�	��58�5+��:>���I��������� 
  	7��@G�7�� 0.60-0.79 G5��Y��	7�	��58�5+��:>���I��	7��A1��80� 
  	7��@G�7�� 0.80-0.99 G5��Y��	7�	��58�5+��:>���I��80�5�� 
   

  4. �F�A1�50����?III�����P�	8��5A��/01�����5����	��@G>��@5��/�?�@��
�I��
��
�F��8��3��0�	��5��
�� 
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$4������ �# �
����
�� 
 

 8Y�6��
�3413�������	��@G>A1�50�8F�G��I��������	��
��

 	,� 
 1. 8Y�6�+,
�\�� 
      1.1 	7��W�
����A	_�6 (Arithmetic mean) 2��341806� (+����6�>  ��
��6�>, 2536 : 154-
146) 

806�  
n

X
X

∑
=  

  2��   X  G5��Y��  	7��W�
�� 
              X∑  G5��Y��  /���5A��	@?����
�G5� 
    n      G5��Y�� �F����	�3���E756����7�� 
 

    1.2 	7��I
����I�5�6�\�� (Standard Deviaton) (�1�� 8���- ?�@ ���	_� 8���-, 
2536 : 64) 

  806�  ( )
( )1

.

22

−
∑−∑

=
nn

XXn
DS  

  2��  DS.  G5��Y�� 	7��I
����I�5�6�\��  
    X∑  G5��Y�� /���5A��	@?����
�G5� 
    2

X∑  G5��Y�� /���5A��	@?��?67�@6�����F����8�� 
    n      G5��Y�� �F����	�3���E756����7�� 
  
 2. 8Y�6��
�3413����6���8�I	E_P�+�	�,���5,� 
      2.1 G�	��56�� (Validity) A��?II��8�I���/�8�59�:�;��������
����4�<=8��8>
G�7��D<<X�8Y�6 	F���_D�1���806� (���_
 ���	F�, 2539: 232) 
 

  806�  
n

R
IOC

∑
=  

2��  IOC  G5��Y��  ��4�
	��58��	�1���@G�7��
?II��8�I��I/������
���01�
�	��G��� 

R∑ G5��Y��/���5A��	@?��	��5	���GH�A��/01�4
���4�b
��
�G5� 

    n G5��Y�� �F����/01�4
���4�b 
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     2.2 G�	7�	��5��� (Difficulty: p) ?�@	7��F�����F�?�� (Discrimination: r) A��
?II��8�I���/�8�59�:�;��������
����4�<=8��8>G�7��D<<X�8Y�6 	F���_D�1���806�  
 

  806�  
n

R
P =  

2��  P G5��Y�� 	7�	��5���A��A1�8�I?67�@A1� 
   R G5��Y�� �F����/016�IY0�3�?67�@A1� 
   n G5��Y�� �F����/01�A1�8�I��
�G5� 
 

?�@806�  
2/n

RR
r LU −
=  

2��  r  G5��Y�� 	7��F�����F�?�����A1� 
   UR G5��Y�� �F����/016�IY0�A1���
�3���E75��7� 
   LR G5��Y�� �F����/016�IY0�A1���
�3���E75�7�� 
   n G5��Y�� �F����/01�A1�8�I��
�G5� 
 
  2.3 G�	7�	��5�4,��5��� (Reliability) A��?II��8�I���/�8�59�:�;��������
����4�

<=8��8>G�7��D<<X�8Y�62��341806�A�� 	0����>-��4��>�8�� 20 (Kuder-Richadson 20 : KR-20) 
(�1�� 8���- ?�@ ���	_� 8���-, 2536 : 64) 

 

       806�  






 ∑
−

−
=

2
1

1
t

tt
S

pq

n

n
r  

2��  ttr  G5��Y�� 	7�	��5��
���A��?II��8�I 
   n G5��Y�� �F����A1�8�I3�?II��8�I 
   2

tS G5��Y�� 	@?��	��5?������A��?II��8�I 
   p G5��Y�� 8��87��A��/01�
��F�Y0�3�A1�G����m 
   q G5��Y�� 8��87��A��/01�
��F�/��3�A1�G����m ( )1 pq −=  
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  2.4 G�	7�	��5�4,��5��� (Reliability) A��?II8�IY�5���	��5+��+�3�67����������
��
���01 2��341806�8�5��@8��:�;?��<� (Coefficient - Alpha) A��	���I�	 (Cronbach)(�1�� 8��
�- ?�@ ���	_� 8���-, 2536 : 171) 

 

       806�  






 ∑
−

−
=

2

2

1
1

t

i

S

S

n

n
α  

 
2��  α G5��Y�� 	7�	��5�4,��5���A��?II��� 

   n G5��Y�� �F����A1�A���	�,���5,���� 
   2

iS G5��Y�� 	@?��	��5?�������������A1� 
   2

tS G5��Y�� 	@?��	��5?������A���	�,���5,���
�WI�I 
  2.5 �����8�I���
�I��
�IA��	7��W�
��A��	@?��/�8�59�:�;��������
�� ��I��_p>

�1���@ 70 2�������8�I	7��
� (t-test) (�1�� 8���- ?�@ ���	_� 8���-, 2540: 240) 
 

   

n

s

X
t

µ−
=  

   
  �5,�� X  ?��   	7��W�
��A��	@?��/�8�59�:�;��������
�� 
   µ  ?��   	7��W�
��A����@4��� 
   s  ?��   	7��I
����I�5�6�\�� 
   n  ?��   �F���������
����
�G5� 
 
   2.6 �����8�I	��5?6�67��A��	7��W�
��A��	@?��/�8�59�:�;��������
�� �7����I
G��������������
���012�������8�I	7��
 (t-test Dependent) (�1�� 8���- ?�@ ���	_� 8��
�-, 2538: 104) 
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  �5,�� 
1

X  ?��   	@?���7�������������
���01 
   

2
X  ?��   	@?��G��������������
���01 

   N  ?��   �F����A����E756����7�� 
   D  ?��   	��5?6�67��A��	@?�� 
 

     2.7 	7�8G8�5+��:> (Correlation Coefficient) A��?II���	��5+��+�3�67����������
��
���01��I/�8�59�:�;��������
����4�<=8��8>G�7��D<<X�8Y�6�+,��G�	��58�5+��:> 2��341806�
8�5��@8��:�;8G8�5+��:>?II�+
��8�� (Pearson Product Moment Correlation Coefficient) 
(+�8_E   <��-�
, 2549 : 159-160) 
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2��  ∑ x ,∑ y  G5��Y��/���5�
����D�1���?II���	��5+��+�3�

��I/�8�59�:�;��������4�<=8��8> 
  ∑ xy G5��Y��/���5A��/�	0_�@G�7��?II���	��5+��

+�3���I/�8�59�:�;��������4�<=8��8> 
  ∑ 2

x ,∑ 2
y G5��Y��/���5�F����8��A��?II���	��5+��

+�3���I/�8�59�:�;��������4�<=8��8> 
  n G5��Y���F����A1�50� 

 


